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not related to
problem OR
Response is left blank

*Procedural errors are mistakes made in the math
**Conceptual errors are mistakes made in the steps one take g
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Tajima HS Solis IM1

1. (ACED2) Explain your answer choice in the space below.

Katelyn starts a job that pays $8.50 per hour. Katelyn’s manager says that if her job reviews are favorable, she can

expect annual pay rate increases of $0.75. Which equation represents the relationship between years on the job,
y, and pay per hour, p?

A. v=075p+850
B. p=8.50y +0.75
=8.50p +0.75
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2. (AREIC6) For the problem below, explain your answer in the space provided.

Consider the equation 3x —2y = 6. If possible, find a second linear equation to create a system of
equations that has...

a. One solution. ®x= s
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b. No solutions. 3x ° za_= O ms‘
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3. (AREIC6) For the problem below, show your work and explain your answer in the space below.

e Plants in sgall pots costS3. X ® * °G w\ P"" ﬁola

® Plants in big pots co .00

e One day,zglants wer d for a total of {680.5 (a 2 -ﬂ\ °F E | F"‘-‘ s‘ld
How many plants in BIG pots were sold at the store that day?

Equation 1: r < |8 E '

Equation 2: 3-?0,: *%j 80050

x+3 =18
Mathe) 3 SOy + T 90.350 lley =18
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4. (GCO7)

The design for a building has two triangular windows placed on a coordinate plane, as shown below.

14 Y

B(3,7)
45« -
C18, 4}
A2, 3) 8110, 3)
A6, 2)
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Use rigid motions to expl‘ain why the two windows are congruent.

f yon ceflect DABC over AC aed 4ranslale Hut
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5. (GCO8)

Triangle /A ABC is shown below.
%8 180
PSU o
NF 33

Determine if Triangle ABC is congruent to either of the triangles below. For each triangle, write a congruency
statement and cite the Theorem that proves their congruency.

Ao
Congruency Statement AABC r— AGHl

Congruency Theorem A 6A
Series of Rigid Transformations % € l¢ Gt A'A& ol

B oo transhie
Ao




Tajima HS Solis
Sentence Starters
Q1.

I chose Equation because...

Q.2
These equations have one solution since...

These equations have no solutions since...

Q.3

The number of . - sold at the store was

Q.4

To prove that the two windows are congruent, one must...

IM1



